40 st U L5 N i 5

f - e I T i 1A i:--l

Jil 3 3 oA o e

SEPY BN Sl LN

e, ] - . # o BFR " e ., 3 P - -
G sy Gl e B10,5 Ui SEKY RE6 G i T R0 5K
LB 0460 wiisd 1 a5V Sl

PN Lo Fand g1 Dl alall S L1 /2

12 ) Wl

SIS Y Ll 10 e 3 U255 o B0 SRR e TE
;Y NN POl R g W

) s R T

" -

? .8 1
32 Lol ot —
.:L‘JJ.,J‘J}

L Bagh (23 L2
JEBYI S LoV 2l Ge %15 .Ju_n.-,.,m,u ,1;;: _,..;.Jul.wcuu C-*‘
pelala iy e el Al WLl

e 1y K500 o) JQ I LIS 2

i




13 od y Ul
Lo L1 I 3] () 1y 61 3 5 W e (55 TG 06
PN STENICHW A T o S P W =

ern

25 g Tl y Bl S35 - il Bl

3245 1-'1

e SATR

@35 - I_,.-«'1

a & 2

Ll L.-JI——O-H .-J.N

J34,50

S on [k

J14,20

t.’:_,.n.“ J.;-J_J..]ls\_.._f

326

N L PP ATTEF15

- " f. -d;.' 5

NGRS JRATEv

LE'-"‘IS i Jlﬁ

Jyal -_,n 5yl 53 :;-.f..

21,270

JJ_,-M Y s .l.:-i}.“ 1...[11

2250 5 3

[TV S ATE AT

,rﬂundi_-f_j._.u " 5y o S e LIS /1

10 IR | - T .

Wl e 5500 @l Bl L1 /3




23 iy Ul

: G0) 3 G0 & o 1 571

J20,3 = 14,2- 34,3

S 100 350 S I -

'_“_ 1o 100x203
)

5N,k ey

26

312 500 = Sx—

4

5,781 = 1,270 x 20,3 : Sl 2 .20 G-
5781432500426 il TS0 EK.
254,281

Aol 3 G A Dl A3

= 3350 3 34 3252 -1+ 3345 5 -1
$32T 3 -7

p gl e N @il S

S48 3 -8 =327 5 T =-3515, 10

11 oy Alsdt

pI20 = 2:640 : ol e T 5/
R0 =4 :320 ;2 -
p240 = 3x80 3 80-320 Sk [ S-

Ji Sl -
L192 = 19200 = 80 x240

. IRLO2 e st
Bldd =0 Gl ST Sra 2
215,120 = 1,44 x lu.S:'_;.a?-'-l;'Q.:-i'-.lli'Ei'-
sl il 2EF -
3520 o
100 33 paaall A28
L6048 =9,072- 15,120 : Dbt Ll iEE .
%)= %60 - %100 Db ) T3 4

2 g LT
16,048 =% et it S

29,072 = 60k

| —

ey B

afyll = ]21? *i}ad!:_...;;

15x60) C LIEL
P el yldda £2
100 :




